
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ  
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ  

«ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ  
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ» 

 

 

 

 

 

 

 

 

 

 

 

 

 

ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 

 

Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

 
ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

II (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 
 

Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
Ѐ 2017/2018 ЀЀЀЀЀЀЀ ЀЀЀЀ 
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ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀ 

 

 

ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ II 
(ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ 2017/2018 ЀЀЀЀЀЀЀ ЀЀЀЀ / ЀЀЀЀ. 
Ѐ. Ѐ. ЀЀЀЀЀЀЀ, Ѐ. Ѐ. ЀЀЀЀЀЀЀ, Ѐ. Ѐ. ЀЀЀЀЀЀЀЀЀЀ, Ѐ. Ѐ. ЀЀЀЀЀЀЀ, Ѐ. Ѐ. ЀЀЀЀЀЀЀЀ // 
ЀЀЀ ЀЀЀ. ЀЀЀЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀЀЀЀЀ Ѐ. Ѐ. – ЀЀЀЀЀ: ЀЀЀ-ЀЀ ЀЀЀЀЀ, 2017. – 40 Ѐ. 

 

 

 

 

 

 

 

 

ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ Ѐ ЀЀ.): 
ЀЀЀЀЀЀЀ Ѐ.Ѐ.: ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ 7–8 ЀЀЀЀЀЀЀ (I, II, III); 
ЀЀЀЀЀЀЀЀЀЀ Ѐ. Ѐ.: ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ 9 ЀЀЀЀЀЀЀ (I, II); 

ЀЀЀЀЀЀЀ Ѐ. Ѐ.: ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ 10–11 ЀЀЀЀЀЀЀ (I, II, III); 
ЀЀЀЀЀЀЀ Ѐ. Ѐ.: ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ 7–8 ЀЀЀЀЀЀЀ (I), 10 ЀЀЀЀЀЀЀ (II), 9 ЀЀЀЀЀЀЀ (III). 

 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ): 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ă 57»; 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ  

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ  

ЀЀЀЀЀ ЀЀ «ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ». 
 

 

 

 

 

 

 

 

ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 16.10.2017 

ЀЀЀЀЀЀ 60Ѐ84 1/16. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀ. ЀЀЀ. Ѐ. 3,8 

ЀЀЀЀЀ 968 ЀЀЀ. 

 

 

 

© ЀЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀЀЀЀЀ Ѐ. Ѐ., ЀЀЀЀ-
ЀЀЀ Ѐ. Ѐ., 2017 

© ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ «ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ», ЀЀЀЀЀ, 2017  
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ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ II (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

1. ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: 

– ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (7–8 ЀЀЀЀЀ) – 1,5 ЀЀЀЀ (90 ЀЀЀЀЀ), 

– ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (9 ЀЀЀЀЀ) – 1,5 ЀЀЀЀ (90 ЀЀЀЀЀ), 

– ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (10–11 ЀЀЀЀЀ) – 1,5 ЀЀЀЀ (90 ЀЀЀЀЀ), ЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 2-Ѐ ЀЀЀЀЀ. I ЀЀЀ – ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

(ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ), II ЀЀЀ – ЀЀЀЀЀЀЀЀЀЀЀЀ. 

2. ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 3 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: 

- ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀЀЀ 7–8 ЀЀЀЀЀЀЀ ЀЀ; 

- ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀЀЀ 9 ЀЀЀЀЀЀЀ ЀЀ; 

- ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀЀЀ 10–11 ЀЀЀЀЀЀЀ ЀЀ. 

3. ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀ), ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ). 

4. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀЀ. 

5. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

6. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ (ЀЀ. ЀЀ., ЀЀ. – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀ) Ѐ ЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ-000. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

7. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

8. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 2–3 ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

9. ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ:  

– ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; 

– ЀЀЀЀЀЀЀЀЀЀЀ Ѐ.Ѐ.Ѐ. ЀЀЀЀЀЀЀ; 

– ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ; 

– Ѐ.Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ); 

– ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

10. ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ. 

11. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ.  

12. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ! Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀ! 
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ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ  
7–8 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ 2-Ѐ ЀЀЀЀЀЀЀ (56 + 44) Ѐ 
ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 100 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 1 
ЀЀЀЀЀЀЀ 1. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ SMS-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ: «Ѐ 
ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-5. ЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ!». 

2.1. ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. 
2.2. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 6 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 2. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀ ЀЀЀ. 

   
   

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 3 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 3. ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ: 
1) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
2) ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
3) ЀЀ-ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ 

Ѐ ЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ,  
4) ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 4 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 4. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 
«ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ Ѐ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ, 
ЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. Ѐ 
ЀЀЀЀЀЀЀЀ ЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ. 
ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ: «ЀЀЀЀЀ-
ЀЀ!». ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ». 

ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ? ЀЀЀЀЀЀЀ 3 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 3 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 5. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ?  
Ѐ) ___ Ѐ) ___ Ѐ) ___  Ѐ) ___. 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 8 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 6. ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ» ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ 

Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ____________(Ѐ), ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 



 5

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ _______________(Ѐ) 
ЀЀЀЀЀЀ, ЀЀЀЀЀ ____________ (Ѐ) ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ______________ (Ѐ) ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 8 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 7. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ? ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
12 ЀЀЀЀЀЀ.  

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
2 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 12 Ѐ; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 8. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 12 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 

 
ЀЀЀЀЀЀ 2 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀ 

ЀЀЀЀ 

ЀЀЀ-ЀЀ 

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
1 Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ  ЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀ? 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ;    Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

1  

2 ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀЀЀЀ; Ѐ) ЀЀЀЀЀЀЀЀ; 

1  

3 Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ: 
Ѐ) ЀЀЀЀЀЀ;     Ѐ) ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ;     Ѐ) ЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

1  

4 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ-
ЀЀЀЀ ЀЀ: 
Ѐ) ЀЀЀЀЀЀЀ;     Ѐ) ЀЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀ;    Ѐ) ЀЀЀЀЀЀЀЀЀ.  

1  

5 ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ? 
Ѐ) ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ, ЀЀЀ 
ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

1  

6 ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ-
ЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ? 
Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ. 

1  
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Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀ 

ЀЀЀЀ 

ЀЀЀ-ЀЀ 

ЀЀЀЀЀЀ 

7 ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ:  
Ѐ) ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ 
– ЀЀ ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ 
– ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

1  

8 ЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀ ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, Ѐ.Ѐ. ЀЀ-
ЀЀЀЀ ЀЀ 5-ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ? 
Ѐ) ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ. 

1  

9 Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ… 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ;   Ѐ) ЀЀЀЀЀЀ ЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

1  

10 Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
ЀЀЀ:  
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ;  
Ѐ) Ѐ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ̀ ЀЀЀ. 

1  

11 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: «ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-
ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ… 
Ѐ) ЀЀЀЀ;     Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀ;     Ѐ) ЀЀЀЀЀЀ. 

1  

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
12 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ? 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ; Ѐ) ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

2  

13 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀ-
ЀЀЀ:  
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ;     Ѐ) ЀЀЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ. 

3  

14 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ:  
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀ ЀЀЀЀЀЀЀ;   Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

3  
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ЀЀЀЀ 

ЀЀЀ-ЀЀ 

ЀЀЀЀЀЀ 

15 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ? 
Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀ-
ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ. 

4  

16 ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

5  

17 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ;   Ѐ) ЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ;    Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀ;     Ѐ) ЀЀЀЀЀ. 

3  

18 ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ? 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ;     Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ;      Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ;    Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀ;      Ѐ) ЀЀЀ;  
Ѐ) ЀЀЀЀЀ. 

4  

19 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ 20-25%. 
  
 

5  
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20 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀ, … 5 Ѐ …): 
1) ЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
2) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀ 
ЀЀЀЀ; 
3) ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀ-ЀЀ ЀЀЀЀЀЀЀ; 
4) Ѐ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ-
ЀЀ Ѐ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, 
ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ 
ЀЀЀЀЀЀ; 
Ѐ) ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ-
ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

4  

ЀЀЀЀЀ 44  
 

ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀ: 

Ѐ) ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 0 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ, 
ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ (Ѐ ЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ) ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ;  

Ѐ) ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

 
 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
1 2 3 4 5 6 7 8 9 10 
          

11 12 13 14 15 16 17 18 19 20 
          

 

 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 100 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ Ă1). 
ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ (ЀЀЀЀЀЀЀЀ ЀЀЀЀ) ЀЀЀ-

ЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀ 1 ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 25 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
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ЀЀЀЀЀЀ 2. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ «Ѐ» Ѐ ЀЀЀЀЀ «Ѐ», Ѐ ЀЀ ЀЀЀЀЀ «Ѐ» 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ «Ѐ» 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 20 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀ 3. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 

ЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀ 2 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
1,5 Ѐ. ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 30 ЀЀ. Ѐ 1,5 Ѐ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ Ѐ 1,5 Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 20 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀ 4. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ.  
ЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ ЀЀ-5, 6, 

7; ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀЀ, ЀЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀ 2 ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ) Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀ ЀЀЀЀ (ЀЀЀЀЀЀЀЀ 3Ѐ3 ЀЀЀЀЀ – ЀЀЀЀЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ.  

ЀЀЀЀЀЀЀ:  

1) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ: «Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ».  

2) ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ.  
3) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ:  
4) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ: ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀ-
ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ:  
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ – 20 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____Ѐ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ – 15 Ѐ.; ЀЀЀЀЀЀЀЀЀЀ ____Ѐ. 
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ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ  
9 ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 2-Ѐ ЀЀЀЀЀЀЀ 
(68 + 32) ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 100 ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀ 1 
ЀЀЀЀЀЀЀ 1. ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀ – ЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ». 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ  
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀ: ЀЀЀЀ, ЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀ (ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ), 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-
ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ 2-Ѐ ЀЀЀ Ѐ ЀЀЀЀЀЀ  
 ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ-

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ  
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
______________, ____________, 
_________ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 7 Ѐ; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 2. ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀ. 
ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ-
ЀЀЀ? ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀ-
ЀЀЀЀЀЀЀ – 7 Ѐ; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 

ЀЀЀЀЀЀЀ 3. ЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ. Ѐ ЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-
ЀЀ ЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ? ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ?  

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 2 ЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ.  
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1 - ? 2 - ? 3 - ? 

   
4 - ? 5 - ? 6 - ? 

 

  
  

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 6 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 4. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ-
ЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ.  

 

  

 

  

 

  

 

  

 

  

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 7 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ______ Ѐ. 
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ЀЀЀЀЀЀЀ 5. ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ 78% ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀЀЀ ЀЀ-ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 7 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 6. Ѐ 1981 Ѐ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ 

ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ. ЀЀЀЀЀЀЀЀ ЀЀ, Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 100% ЀЀЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 30%, ЀЀ 
ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ.  ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ: 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 3 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 7. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀ ЀЀ 120 ЀЀ/Ѐ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. 
ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ? 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 4 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 8. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀ ЀЀЀЀЀ). ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. 

ЀЀЀЀЀЀЀ: 3 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 45°, 6 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 
180°, 2 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 315°, 1 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 225°. 

ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ? 

ЀЀЀЀЀ: ЀЀЀЀЀЀ: _________, ЀЀЀЀЀЀЀЀЀЀЀ __________. 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 5 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ 

______ Ѐ. 
ЀЀЀЀЀЀЀ 9. ЀЀЀЀЀЀЀЀЀЀЀ 8 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
1) 5) 

2) 6) 
3) 7) 

4) 8) 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 8 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 10. ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ 
ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ? 
ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ: 1) ___ ; 2) ___; 3) ___. 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 3 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
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ЀЀЀЀЀЀЀ 11. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ. 

1)  

 

2)  

 

3)  

 

4)  

 

5)  

 

6)  

 

7)  

 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ –7 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 12. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ «… ЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ» (ЀЀ ЀЀ.2 ЀЀЀЀЀЀ 
ЀЀ «Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ». ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ». ЀЀЀ-
ЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ – ЀЀ ЀЀЀ ЀЀЀ. Ѐ ЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ» ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ.) 

ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ 

(ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ) 

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ 

ЀЀЀЀЀ-

ЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ-

ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ___ ___ ___ (500 – 1000) ___ 
ЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀ) ___ ___ ___ (400 – 500) ___ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ___ ___ ___  (20 – 40) ___ 

1 Ѐ. – ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 4 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
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ЀЀЀЀЀЀ 2 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀ 
ЀЀЀЀ 

ЀЀЀ-ЀЀ 
ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
1 Ѐ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀ ЀЀ ЀЀЀ. 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀ. 

1  

2 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀ, 
ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ-
ЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀ ЀЀЀЀЀЀ? Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ.  
Ѐ) ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ. 

1  

3 Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ?  
Ѐ) ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀ ЀЀЀЀ;     Ѐ) ЀЀЀЀЀ ЀЀЀЀЀ. 

1  

4 ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀЀЀ? ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ.  
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ-
ЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ, ЀЀЀЀ;  
Ѐ) ЀЀЀЀЀ ЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

1  

5 ЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ. Ѐ. ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ:  
«…. Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ.  
ЀЀЀЀЀЀ ЀЀЀЀЀЀ! ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ,  
ЀЀЀЀЀЀЀ, ЀЀЀЀ Ѐ ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ,  
ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀ.»  
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
 

1  
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6 ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀ? 
Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

1  

7 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ – ЀЀЀ: 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ-
ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ. 

1  

8 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ: 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 10 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ 1 ЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀЀЀЀЀЀ ЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 1 ЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 10 ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀ ЀЀЀЀЀ 1 ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ. 

1  

9 ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ? 
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀ;    Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ;   Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

1  

10 ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀ-
ЀЀ ЀЀЀЀЀЀЀЀ?  
Ѐ) ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ;  
Ѐ) ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ; 
Ѐ) Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; 
Ѐ) Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. 

1  

11 ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ «Ѐ» Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ:  
Ѐ) ЀЀЀ Ѐ ЀЀЀЀЀЀЀ;      Ѐ) ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀ.  

1  

12 ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ?  
Ѐ) ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀ-ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀ-ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

1  

13 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ:  
Ѐ) ЀЀЀЀЀЀЀ;       Ѐ) ЀЀЀЀЀ ЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ;   Ѐ) ЀЀЀЀЀЀ.  

1  

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
14 Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ:  

Ѐ) Ѐ-1, ЀЀЀ;      Ѐ) ЀЀЀЀЀЀЀ, ЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ;   Ѐ) ЀЀЀЀЀЀЀ.  

2  



 16
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15 ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ, ЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

3  

16 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀ ЀЀЀЀЀЀ? 
Ѐ) ЀЀЀЀЀЀЀ Ă 1; 
Ѐ) ЀЀЀЀЀЀЀ Ă 2; 
Ѐ) ЀЀЀЀЀЀЀ Ă 3; 
Ѐ) ЀЀЀЀЀЀЀ Ă 4. 

2  

17 ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, 
ЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀ;    Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀ ЀЀЀЀ; 
Ѐ) ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

2  

18 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀCЀЀ. 
Ѐ) ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ. 

2  

19 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ.  
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ. 

   

1) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀЀЀЀ 

2) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ 

Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

3) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

4) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ) ЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ 

4  

20 ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ? ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ? ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀ 
1) ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ 

Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀ. 

2) ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ 

Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ 

4  

 

Ă1 
Ă2 

Ă3 
Ă4 



 17

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀ 
ЀЀЀЀ 

ЀЀЀ-ЀЀ 
ЀЀЀЀЀЀ 

Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 
3) ЀЀЀЀЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀЀ 

Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

4) ЀЀЀЀЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀ 

Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-
ЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀ. 

  
ЀЀЀЀЀ 32  

ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀ: 

Ѐ) ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 0 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ, 
ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ (Ѐ ЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ) ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ;  

Ѐ) ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
1 2 3 4 5 6 7 8 9 10 
          

11 12 13 14 15 16 17 18 19 20 
          

 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 100 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 1. ЀЀЀЀ. 
ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ: «ЀЀЀЀЀЀ», «ЀЀЀ-

ЀЀЀЀЀЀ», «ЀЀЀЀЀЀЀЀЀ», «ЀЀЀЀЀЀ», «ЀЀЀЀЀЀЀЀЀ», «ЀЀЀЀЀЀЀЀЀЀЀЀ» (ЀЀЀЀЀЀЀЀЀЀЀЀ), 
«ЀЀЀЀ-ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ», «ЀЀЀЀЀЀ», «ЀЀЀЀЀЀ ЀЀЀ», «ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ». 

ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 2 ЀЀЀЀЀ.  
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 10 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀ 2. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀ-2). 
ЀЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ-2, ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀЀЀ Ѐ 5 ЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ.  
ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ-2. 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: 
1) ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ. 2) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ-ЀЀЀЀЀ). 

3) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 4) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 15 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀ 3. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. (Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ.) 
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ЀЀЀЀЀЀЀ: Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀ-
ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 20 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀ 4. ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ (ЀЀ 40 – 50 
ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ).  

ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 15 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀ 5. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀ (ЀЀ-5 ЀЀЀ ЀЀ-7), ЀЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ) Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ (ЀЀ-5 ЀЀЀ ЀЀ-7):  
ЀЀ ЀЀЀЀЀЀЀЀЀЀ 2-Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ «ЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀ», ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 10 Ѐ. Ѐ ЀЀЀЀЀЀЀ 1,5 Ѐ.). 
ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀ ЀЀЀ, – 3 ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀ – 6 ЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: 
1) ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀ» ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ-
ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ (ЀЀ-5 ЀЀЀ ЀЀ-7)  

2) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ «ЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀ») Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

3) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ», 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 20 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀ 6. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀ) ЀЀЀЀЀЀЀ.  
ЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀ) ЀЀЀЀЀЀЀ 

(ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ «Ѐ, Ѐ» ЀЀ ЀЀЀЀЀ «Ѐ, Ѐ» ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ) 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – 3 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ:  
1) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ.  
2) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀ) ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ.  
3) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ.  
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 20 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
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ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
10–11 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 2-Ѐ ЀЀЀЀЀЀЀ 
(61 + 39) ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 100 ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀ 1 
ЀЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀЀ. 
1) _________________ – ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

2) _________________ – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ-
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

3) _________________ – ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀ. 

4) _________________ – ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀ-
ЀЀЀЀЀЀЀЀ. 

5) _________________ – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 
(ЀЀЀ) ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ. 

6) _________________ – ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀ-
ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀ-
ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 6 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 2. ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 
 

  
 

ЀЀЀЀЀЀЀЀ    
ЀЀЀЀЀЀ    

ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ 

   

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 9 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 3. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀ. 

     
1) 2) 3) 4) 5) 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 10 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
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ЀЀЀЀЀЀЀ 4. ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ-
ЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ-
ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 5 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 5. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ-

ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 6 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 6. ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ? 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 4 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 7. ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

Ă 
ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ 

1   
ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀ-
ЀЀЀЀЀ) 

2   
ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

3   
ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 6 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 8. ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: 

«Ѐ» – ___ «Ѐ» – ___  «Ѐ» – ___ «D» – ___ «Ѐ» – ___ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 5 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 9. ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
1 ЀЀЀЀЀЀЀ _________ ЀЀЀЀ – ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

_________ ЀЀЀ _________ ЀЀЀЀЀЀЀЀ Ѐ _________. 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 4 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ______ Ѐ. 
ЀЀЀЀЀЀЀ 10. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ  
 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ  
 ЀЀЀЀЀЀЀ 2 ЀЀЀЀЀ 
ЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀ  

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 5 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ 11. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ «Ѐ»? 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 1 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
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ЀЀЀЀЀЀ 2 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀ 
ЀЀЀЀ 

ЀЀЀ-ЀЀ 
ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
1 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

Ѐ) ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀ, ЀЀЀЀ, ЀЀЀЀЀЀЀ. 

1  

2 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀЀЀ Ѐ. ЀЀЀЀЀЀ;   Ѐ) ЀЀЀЀЀЀЀ Ѐ. ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ Ѐ. ЀЀЀЀЀЀЀ;   Ѐ) ЀЀЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀ. 

1  

3 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 14 Ѐ/Ѐ ЀЀЀЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀ;   Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

1  

4 ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ? 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

1  

5 Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ? 
Ѐ) Ѐ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 25 
ЀЀЀ Ѐ ЀЀЀЀЀ; 
Ѐ) Ѐ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) Ѐ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

1  

6 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ 1915 ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ? 
Ѐ) ЀЀЀЀ;  Ѐ) ЀЀЀЀЀ;  Ѐ) ЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀ. 

1  

7 Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ-
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀ-
ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ?  
Ѐ) «ЀЀЀЀЀЀЀ»; Ѐ) «ЀЀЀЀЀЀЀЀЀ»; Ѐ) «ЀЀЀЀЀЀ»; Ѐ) «ЀЀЀЀЀ». 

1  

8 ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 
 

1  
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Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀ 
ЀЀЀЀ 

ЀЀЀ-ЀЀ 
ЀЀЀЀЀЀ 

9 ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: 
Ѐ) «ЀЀЀЀЀЀЀ»; Ѐ) «ЀЀЀЀЀЀЀЀЀ»; Ѐ) «ЀЀЀЀЀЀЀ»;      Ѐ) «ЀЀЀЀЀЀЀ». 

1  

10 ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ: 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

1  

11 ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ; Ѐ) ЀЀЀЀЀЀЀЀЀЀ; Ѐ) ЀЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀЀ. 

1  

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
12 ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀ-5; Ѐ) ЀЀЀ; Ѐ) ЀЀЀ; Ѐ) Ѐ-1; Ѐ) ЀЀЀ-3. 

2  

13 Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

2  

14 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ;   Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀ;   Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 
Ѐ) ЀЀЀЀЀЀЀЀЀ;    Ѐ) ЀЀЀЀЀЀЀЀЀ. 

3  

15 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ:  
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ;  
Ѐ) ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ;  
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

3  

16 Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 17 ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ 
ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀ-
ЀЀ ЀЀ. 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ;   Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ;   Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

3  

17 ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ(NH3) ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ:  
Ѐ) ЀЀЀЀЀ ЀЀЀЀЀЀЀ;     Ѐ) ЀЀЀЀЀ ЀЀЀЀЀЀ̀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ;   Ѐ) ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ;   Ѐ) ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ. 

3  

18 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ: 
Ѐ) Ѐ 1.05 ЀЀ 30.06;    Ѐ) Ѐ 1.04 ЀЀ 15.07; 
Ѐ) Ѐ 1.10 ЀЀ 31.12;    Ѐ) Ѐ 1.09 ЀЀ 31.12; 
Ѐ) Ѐ 1.04 ЀЀ 30.06;   Ѐ) Ѐ 1.05 ЀЀ 31.07. 
 

2  
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Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀ 
ЀЀЀЀ 

ЀЀЀ-ЀЀ 
ЀЀЀЀЀЀ 

19 ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀ-74: 
Ѐ) ЀЀЀЀЀЀ 5,45 ЀЀ;   Ѐ) ЀЀЀЀЀЀ 7,62; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 500 Ѐ; Ѐ) ЀЀЀЀ ЀЀЀЀЀЀЀЀ 600 Ѐ/ЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ 960 Ѐ/Ѐ. 

2  

20 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀЀЀЀ ;  Ѐ) ЀЀЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀ ЀЀЀЀ;   Ѐ) ЀЀЀЀЀЀ;   Ѐ) ЀЀ ЀЀЀЀЀЀ. 

3  

21 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ;   Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ; Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀ;    Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

3  

22 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ? 
Ѐ) ЀЀЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀ ЀЀЀЀЀЀ;  Ѐ) ЀЀЀЀЀЀ;    
Ѐ) ЀЀЀЀЀЀ;    Ѐ) ЀЀЀЀЀ «ЀЀЀЀЀЀЀЀ». 

2  

ЀЀЀЀЀ 39  
ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀ: 

Ѐ) ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 0 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ, 
ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ (Ѐ ЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ) ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ;  

Ѐ) ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
1 2 3 4 5 6 7 8 9 10 11 12 
            

13 14 15 16 17 18 19 20 21 22 23  
            

 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 10-11 ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 100 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 1. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀ, ЀЀ-74). 
ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 15 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
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ЀЀЀЀЀЀ 2. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ 

Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ (ЀЀ-5 ЀЀЀ ЀЀ-7). ЀЀ ЀЀЀЀЀЀЀЀЀЀ 2-Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ «ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ», ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀ 10 Ѐ Ѐ ЀЀЀЀЀЀЀ 1,5 Ѐ), ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ:  

1) ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀ» ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ (ЀЀ-5 ЀЀЀ ЀЀ-7). 

2) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ «ЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀ») Ѐ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ).  

3) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ», ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 15 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀ 3. ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ: Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: «ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ». ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 3 Ѐ. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀ ЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀ-
ЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀ-5) Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-
ЀЀЀЀЀЀ (ЀЀЀ-5). 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: 

1) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ.  
2) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 
Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ. 

3) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 15 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀ 4. ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀ-

ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ (Ă 1, Ă 2 Ѐ Ѐ. Ѐ.). ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀ-
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ 4 ЀЀ 7 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀ-
ЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-
ЀЀЀЀ.  

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: 

1) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ.   
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2) ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. 

3) ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. 

4) ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ.  

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 15 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀ 5. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ: ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ. 
ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ «ЀЀЀЀЀЀЀ». ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ-
ЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀ Ѐ. 
ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ», ЀЀ ЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀ Ѐ ЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀ ЀЀЀЀ» Ѐ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀ-
ЀЀ». 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
«ЀЀЀЀЀЀЀ ЀЀЀЀ» (ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ). 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 10 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ-

ЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀ» ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – 10 ЀЀЀЀЀЀ. 
ЀЀЀЀЀ Ѐ. 
ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀ – 30 Ѐ.; ЀЀЀЀЀЀЀЀЀЀЀ ____ Ѐ. 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 2 – 40 ЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ   

 

7–8 ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀ 1 
ЀЀЀЀЀЀЀ 1. 2.1 ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀ-5 

ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. 
2.2. Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: 
- ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ; 
- ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ; 
- ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ); 
- ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 6 ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ: 

– ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ 1 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 2 ЀЀЀЀЀ;  

– ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ; 

– ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀ 4 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ 2 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀ 1 ЀЀЀЀЀ;  

– ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ; 

– ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 2.  

   
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

3 ЀЀЀЀЀ.  

ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 1 ЀЀЀЀ.  

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀ. 

ЀЀЀЀЀЀЀ 3. 2 → 1 → 3 → 4. 
ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 4 ЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀ 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 4. - ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ). 
- ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 
- ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ «ЀЀЀЀЀ!» 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 3 ЀЀЀЀЀ; ЀЀЀЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ – 0 ЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀ 5. Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ);  

Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀ), ЀЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀ), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀ);  

Ѐ) ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ-
ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ);  

Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ.  
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 8 ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀ 

2 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀ-ЀЀЀЀ ЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 6. Ѐ) ЀЀЀЀЀЀЀЀЀЀ; Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀ; Ѐ) ЀЀЀЀЀЀЀЀ; Ѐ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ.  
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 8 ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀ 

2 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀ-ЀЀЀЀ ЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 7.  
– ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ;  
– ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ;  
– ЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ;  
– ЀЀЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ;  
– ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀ 3 ЀЀЀ;  
– ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 12 ЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 2 ЀЀЀЀЀ 

ЀЀЀЀЀЀЀ 8. Ѐ) ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ) ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ), Ѐ ЀЀЀЀЀ ЀЀ-ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ.  

Ѐ) ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ; ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ̀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ 2 ЀЀ 12 Ѐ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 3 
ЀЀ 25 ЀЀ/Ѐ (ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – ЀЀ 100 ЀЀ/Ѐ); ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀ 0,5 ЀЀ 10 Ѐ Ѐ ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 12 ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ: 

– ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ̀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 

2 ЀЀЀЀЀ; 

– ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 
 

ЀЀЀЀЀЀ 2 
1 2 3 4 5 6 7 8 9 10 
Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ 

11 12 13 14 15 16 17 18 19 20 

Ѐ Ѐ, Ѐ Ѐ, Ѐ, Ѐ Ѐ, Ѐ, Ѐ 
Ѐ, Ѐ, Ѐ, 

Ѐ 
Ѐ, Ѐ, Ѐ, 

Ѐ, Ѐ 
Ѐ, Ѐ, Ѐ 

Ѐ, Ѐ, Ѐ, 
Ѐ 

Ѐ, Ѐ, Ѐ, 
Ѐ, Ѐ 

1Ѐ, 2Ѐ, 
3Ѐ, 4Ѐ 
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Ѐ) ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 0 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀ-
ЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ (Ѐ 
ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ) ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ;  

Ѐ) ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

Ѐ) ЀЀЀ ЀЀЀЀЀЀ Ѐ 1 ЀЀ 11 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 0 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (Ѐ ЀЀЀ ЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀЀЀЀ), ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ; 

Ѐ) ЀЀЀ ЀЀЀЀЀЀ Ѐ 12 ЀЀ 20 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 1 ЀЀЀЀ, 
0 ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ. 
 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 25 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀ 2. ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ± 2° – 10 ЀЀЀЀЀЀ.  
ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ± 4° – 7 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ± 6° – 5 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 6° – 0 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 20 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀ 3.  

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 
1 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 5 ЀЀЀЀЀЀ 

2 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ (ЀЀЀЀ) 

2 ЀЀЀЀЀ 

3 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ) 

5 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 20 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀ 4. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

1 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 10 ЀЀЀЀЀЀ 
2 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 10 ЀЀЀЀЀ 
3 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 1 ЀЀЀЀ 
4 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 1 ЀЀЀЀ 
5 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 1 ЀЀЀЀ 
6 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 10 ЀЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 
7 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 10 ЀЀЀЀЀЀ 
8 ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 2 ЀЀЀЀЀ 
9 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 2 ЀЀЀЀЀ 

10 ЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 2 ЀЀЀЀЀ 
11 ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (Ѐ ЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ) 
20 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 20 ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ.  
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ.  
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9 ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀ 1 
ЀЀЀЀЀЀЀ 1.  

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ 
ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀЀ) 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ: ЀЀЀЀ, ЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀ, ЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀ  

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 
(ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ), ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ 2-Ѐ ЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-
ЀЀЀ: ЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀ,  

ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-
ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 7 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 2. 1) ЀЀ – ЀЀЀ ЀЀЀЀ (1 ЀЀЀЀ); 
2) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ: 
Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ) – 1 ЀЀЀЀ; 
Ѐ) ЀЀЀЀЀ ЀЀЀЀЀ 14° (ЀЀЀЀ) – 1 ЀЀЀЀ; 
Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ – 3 ЀЀЀЀЀ. 
3) ЀЀЀЀЀЀ ЀЀЀЀЀЀ: ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ. ЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ – 1 ЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 7 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 3. 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ (1, 
3, 4) 

ЀЀЀЀЀ Ѐ ЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ (2, 5, 6) 

ЀЀЀЀЀЀЀ 4.  
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ Ѐ 
ЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ). 

2 ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 

1 ЀЀЀЀЀ 
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ЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀ 
ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

2 ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 1 ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

1 ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 6 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 5. Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ:  
– ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ;  
– ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ;  
– ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ;  
– ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ;  
– ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ;  
– ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ;  
– ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ.  
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 7 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 6. ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ: 
– ЀЀЀЀЀЀЀ ЀЀЀЀЀ; 
– ЀЀЀЀЀ ЀЀЀЀЀ; 
– ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ: ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 3 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 7. ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ 5% ЀЀЀЀЀЀЀЀ ЀЀЀЀ 

(3-5 ЀЀЀ. ЀЀ 1 ЀЀ. ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 3 ЀЀЀЀ Ѐ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 7 ЀЀЀЀ ЀЀЀЀЀЀ). 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 8. ЀЀЀЀЀЀ: 0° ЀЀЀ 360°, ЀЀЀЀЀЀЀЀЀЀЀ – ЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 5 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 9. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: 1) ЀЀЀЀЀЀ; 2) ЀЀЀЀ; 
3) ЀЀЀЀЀЀЀЀ; 4) ЀЀЀЀЀЀЀ; 5) ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; 6) ЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; 7) ЀЀЀЀЀЀЀЀЀЀ; 8) ЀЀЀЀЀЀ; 9) ЀЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀ; 10) ЀЀЀЀЀ ЀЀЀЀЀЀЀ; 11) ЀЀЀЀЀЀЀЀЀЀЀ; 12) ЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀ; 13) ЀЀЀЀЀЀ; 14) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 15) ЀЀЀЀЀЀЀЀЀЀЀЀ; 
16) ЀЀЀЀЀЀЀЀЀЀЀЀ; 17) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀЀЀ); 18) ЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 8 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 10. ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: 
1) ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ; 
2) ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ; 
3) ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 3 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 11.  
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: 
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1) ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀ. 
2) ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
3) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ-ЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀ Ѐ ЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 
4) ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 
5) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀЀ 1,5-2 Ѐ) ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀ-
ЀЀ). 

6) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

7) ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 7 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 12.  

ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ 

(ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ) 

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀ ЀЀ ЀЀ (500 – 1000) ЀЀ 
ЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ) 

ЀЀ ЀЀ ЀЀ (400 – 500) ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ 

ЀЀ ЀЀ ЀЀЀ (20 – 40) ЀЀЀ 

1 ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2 
1 2 3 4 5 6 7 8 9 10 
Ѐ Ѐ Ѐ Ѐ, Ѐ, Ѐ, Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ 

11 12 13 14 15 16 17 18 19 20 

Ѐ Ѐ Ѐ Ѐ, Ѐ Ѐ, Ѐ, Ѐ Ѐ, Ѐ Ѐ, Ѐ Ѐ, Ѐ 
1Ѐ, 2Ѐ, 
3Ѐ, 4Ѐ 

1Ѐ, 2Ѐ, 
3Ѐ, 4Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

Ѐ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ; 

Ѐ) ЀЀЀ ЀЀЀЀЀЀ 1-13 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 1 ЀЀЀЀ, 0 ЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (Ѐ 

ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ), ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ; 

Ѐ) ЀЀЀ ЀЀЀЀЀЀ 13-20 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 1 ЀЀЀЀ, 0 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ. 

Ѐ) ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 32 ЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀ 1. ЀЀЀЀ. 
ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ – 2 ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-

ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 10 ЀЀЀЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
1 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 1 ЀЀЀЀ 
2 ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ 1 ЀЀЀЀ 
3 ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ 2 ЀЀЀЀЀ 
4 ЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀ 2 ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 0 ЀЀЀЀЀЀ.  
ЀЀЀЀЀЀ 2. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 15 ЀЀЀЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
1 ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 10 ЀЀЀЀЀЀ 
2 ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 10 ЀЀЀЀЀЀ 
3 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 3. ЀЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀЀЀ» ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀ 2-4 ЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ-
ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 20 ЀЀЀЀЀЀ. 
Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
1 ЀЀ ЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 20 ЀЀЀЀЀЀ 
2 ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 10 ЀЀЀЀЀЀ 
3 ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 5 ЀЀЀЀЀЀ 
4 ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ 10 ЀЀЀЀЀЀ 
5 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ 
6 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 10 ЀЀЀЀЀЀ 
7 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ 10 ЀЀЀЀЀЀ 
8 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 20 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 0 ЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ 4. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 15 ЀЀЀЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
1 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ  
2 ЀЀЀЀЀ 

2 ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 2 ЀЀЀЀЀ 
3 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 2 ЀЀЀЀЀ 
4 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 
2 ЀЀЀЀЀ 

5 ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 2 ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 0 ЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 0 ЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀ 5. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 20 ЀЀЀЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 
ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ 

1 ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 2 ЀЀЀЀЀ 
2 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 2 ЀЀЀЀЀ 
3 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 2 ЀЀЀЀЀ 
4 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ 2 ЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
5 ЀЀЀЀЀЀЀ ЀЀЀЀЀ 4 ЀЀЀЀЀ 
6 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 4 ЀЀЀЀЀ 
7 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 4 ЀЀЀЀЀ 
8 ЀЀЀЀЀЀЀ ЀЀЀЀ-ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 4 ЀЀЀЀЀ 

ЀЀЀЀЀЀ 6.  
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 20 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ! 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ  

1) ЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀ) ЀЀЀЀЀ ЀЀЀ ЀЀ 5% – 5 ЀЀЀЀЀЀ. 

2) ЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀ) ЀЀЀЀЀ ЀЀЀ ЀЀ 10% – 10 ЀЀЀЀЀЀ. 

3) ЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀ) ЀЀЀЀЀ ЀЀЀ ЀЀ 20% – 15 ЀЀЀЀЀЀ. 

4) ЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀ) ЀЀЀЀЀ ЀЀЀ ЀЀ 30% – 20 ЀЀЀЀЀЀ. 

 
10-11 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀ 1 

ЀЀЀЀЀЀЀ 1.  
1) ЀЀЀЀЀЀ. 2) ЀЀЀЀЀЀЀ. 3) ЀЀЀЀЀЀ. 4) ЀЀЀЀЀЀЀЀ. 5) ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 6) ЀЀЀЀЀЀЀ.  
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

6 ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 2 ЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀ 2.  
 

   
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀ 
ЀЀ – 74 ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ (ЀЀЀ) 
ЀЀЀЀЀЀ 9,2 ЀЀ 5,45 7,62 
ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ 

50 Ѐ 
 

1000 Ѐ 1300 Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

9 ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 1 ЀЀЀЀ. ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀ 3.   
1) ЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀ 

2) ЀЀЀЀЀЀЀЀ. ЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

3) ЀЀЀЀ-
ЀЀЀ 
ЀЀЀЀЀЀ 

4) ЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀ ЀЀЀ 

5) ЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

10 ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 2 ЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-
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ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀ 4. 1) ЀЀЀЀЀЀ. 2) ЀЀЀЀЀЀ. 3) ЀЀЀЀЀЀЀЀЀ. 4) ЀЀЀЀЀЀЀЀЀЀЀ. 5) ЀЀЀЀЀЀЀЀЀЀ-
ЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 5 ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ: 

– ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 1 ЀЀЀЀ; 

– ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 5. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 1 ЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 6 ЀЀЀЀЀЀ: 

ЀЀЀЀЀЀЀ 6. 1) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ;  
2) ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀ;  
3) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ;  
4) ЀЀЀ ЀЀЀЀЀ 2-4 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 4 ЀЀЀЀЀ, ЀЀ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 7.  
Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 

1 ЀЀЀЀЀЀЀ 1-9 
2 ЀЀЀЀЀЀЀ 0-12 
3 ЀЀЀЀЀЀЀЀ 1-12 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 6 ЀЀЀЀЀЀ. ЀЀ 1 ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ. 

ЀЀЀЀЀЀЀ 8. «Ѐ» – ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; «Ѐ» – ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; «Ѐ» 
– ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; «D» – ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; «Ѐ» – ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ-
ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 5 ЀЀЀЀЀЀ, ЀЀ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 9. ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 
1 ЀЀЀЀЀЀЀ 1853 ЀЀЀЀ – ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀ Ѐ. ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 4 ЀЀЀЀЀ, ЀЀ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 10.  
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 2 ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 2 ЀЀЀЀЀ 
ЀЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 5 ЀЀЀЀЀЀ, ЀЀ 1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ 11. ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 1 ЀЀЀЀ. 
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ЀЀЀЀЀЀ 2 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

1 2 3 4 5 6 7 8 9 10 11 12 
Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ, Ѐ 

13 14 15 16 17 18 19 20 21 22   

Ѐ, Ѐ Ѐ, Ѐ, 
Ѐ 

Ѐ, Ѐ, 
Ѐ Ѐ, Ѐ, Ѐ Ѐ, Ѐ, Ѐ Ѐ, Ѐ Ѐ, Ѐ Ѐ, Ѐ, Ѐ Ѐ, Ѐ, 

Ѐ Ѐ, Ѐ   

Ѐ) ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 0 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ, 
ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ (Ѐ ЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ) ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ;  

Ѐ) ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 
 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 
ЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ – 15 ЀЀЀЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

1 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 2 ЀЀЀЀЀ 
2 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ 15 ЀЀЀЀЀЀ 
3 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 2 ЀЀЀЀЀ 
4 ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 2 ЀЀЀЀЀ 
5 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ 
1 ЀЀЀЀ  

ЀЀЀЀЀЀ 2. 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 15 ЀЀЀЀЀЀ.  

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ 
1 ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 2 ЀЀЀЀЀ 
1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 2 ЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
3 ЀЀЀЀЀЀЀ ЀЀЀЀЀ 1 ЀЀЀЀЀ 
4 ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 1 ЀЀЀЀЀ 
5 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 1 ЀЀЀЀ 
6 ЀЀЀЀЀЀЀ ЀЀЀЀ-ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 1 ЀЀЀЀ 

7 ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ) 4 ЀЀЀЀЀ 

8 ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ) 2 ЀЀЀЀЀ 
9 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀ 
2 ЀЀЀЀЀ 

ЀЀЀЀЀЀ 3. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 15 ЀЀЀЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

1 ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ  
ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 10 ЀЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 5 ЀЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 3 ЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ, ЀЀЀЀЀЀЀЀ 3 ЀЀЀЀЀ 

2 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – ЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀ 
 

5 ЀЀЀЀЀЀ 
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Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

3 ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-5 ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ) 

15*ЀЀЀЀЀЀ 

4 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-5  
ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 1 ЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 1 ЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 3 ЀЀЀЀЀ 

* – ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ – ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀ – 0 ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀ 4. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ – 15 ЀЀЀЀЀЀ.  

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
1 ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀ ЀЀЀЀЀЀ 5 ЀЀЀЀЀЀЀЀ), ЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ 
3 ЀЀЀЀЀ 

2 ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀ ЀЀЀЀЀЀ 5 ЀЀЀЀЀЀЀЀ), 
ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

3 ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
3 ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ (ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ) ЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
3 ЀЀЀЀЀ 

ЀЀЀЀЀЀ 5.  
ЀЀЀЀЀ Ѐ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ – 10 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ-
ЀЀЀЀ «ЀЀЀЀЀЀЀЀ» ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ – 10 ЀЀЀЀЀЀ. 

ЀЀЀЀЀ Ѐ. ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ Ѐ – 30 ЀЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 2 – 40 ЀЀЀЀЀЀ. 

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

1 ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ 10 ЀЀЀЀЀЀ 
2 ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 15 ЀЀЀЀЀЀ 
3 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 15 ЀЀЀЀЀЀ 
4 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ 5 ЀЀЀЀЀЀ 
5 ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ 
6 ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 10 ЀЀЀЀЀЀ 
7 ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 5 ЀЀЀЀЀЀ 
8 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 2-Ѐ ЀЀЀЀЀ 15 ЀЀЀЀЀЀ 
9 ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 15 ЀЀЀЀЀЀ 

10 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ) 

15 ЀЀЀЀЀЀ 

11 ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 2 ЀЀЀЀЀ 
12 ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 2 ЀЀЀЀЀ 
13 ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀ 
10 ЀЀЀЀЀЀ 

14 ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ) 

2 ЀЀЀЀЀ 

15 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀ) 

10 ЀЀЀЀЀЀ 

16 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 15 ЀЀЀЀЀЀ 
17 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ 
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ЀЀЀЀЀЀЀЀЀЀ 
 

ЀЀЀЀЀЀЀЀЀЀ Ă 1 
 

 

ЀЀЀЀЀ ЀЀЀЀ 

 

 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ  

Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ 

 

ЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀ 

 

 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 

 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

 

ЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

 

ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ  

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

 

ЀЀЀ Ѐ ЀЀЀЀЀЀЀ 

 

ЀЀ ЀЀЀЀЀ 

 

ЀЀ 

 

ЀЀЀ 

 
ЀЀЀЀЀЀЀЀЀЀ Ă 2 

 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ  

(ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ) 

ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ  

ЀЀЀ (ЀЀЀЀ) 

 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

Ă2 (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ  

0,2 Ѐ = 15 ЀЀЀЀЀЀЀЀ) 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ă 1 

(ЀЀЀЀЀЀЀЀ 0,2 Ѐ = 12 ЀЀЀЀЀЀЀЀ) 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

Ă1 (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ  

0,006 Ѐ = 10 ЀЀЀЀЀЀЀЀ) 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ă2 

(ЀЀЀЀЀ ЀЀЀЀЀ  

0,125 Ѐ = 10 ЀЀЀЀЀЀЀЀ) 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀ-

ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ  

0,006 Ѐ = 6 ЀЀЀЀЀЀЀЀ) 
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ЀЀЀЀЀЀЀЀЀЀ Ă 3 Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ă 5 ЀЀЀ 10–11 ЀЀЀЀЀЀЀ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

ЀЀЀЀЀ ЀЀЀЀЀ – ЀЀЀЀЀ; ЀЀЀЀЀЀ ЀЀЀЀЀ – ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ-
ЀЀЀ ЀЀЀЀЀ – ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ; ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
 

ЀЀЀЀЀЀЀЀЀЀ Ă 4 Ѐ ЀЀЀЀЀЀ Ă 6 ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ 10–11 ЀЀЀЀЀЀЀ 
 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ  
ЀЀЀ ЀЀЀЀЀЀЀЀЀ ___________  ЀЀЀЀЀЀЀ Ă ______ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ  
1 - 2 

      

ЀЀЀЀЀЀЀЀ  
2 - 3 

      

 ЀЀЀЀ (15 – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ = ________ Ѐ)  

 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ  
ЀЀЀ ЀЀЀЀЀЀЀЀЀ ___________  ЀЀЀЀЀЀЀ Ă ______ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ  
1 - 2 

      

ЀЀЀЀЀЀЀЀ  
2 - 3 

      

 ЀЀЀЀ (15 – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ = ________ Ѐ)  
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ЀЀЀЀЀЀЀЀЀЀ Ă 5. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ  

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀ-ЀЀ, ЀЀ. 
ЀЀЀЀЀЀЀЀЀ 

1 ЀЀЀЀЀЀЀЀЀЀЀ: ЀЀ-5, ЀЀ-7 6 ЀЀ. 
2 ЀЀЀЀЀЀЀЀЀЀ 2 ЀЀ. 
3 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-2 ЀЀЀЀЀЀЀЀЀЀЀ 2 ЀЀ. 
4 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ-4 (ЀЀ-5) ЀЀЀЀЀЀЀЀЀЀЀ 2 ЀЀ. 
5 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-ЀЀЀЀЀЀ ЀЀЀ-4 (ЀЀЀ ЀЀЀ-5) 2 ЀЀ. 
6 ЀЀЀЀЀЀЀЀЀ/ ЀЀЀЀЀЀЀ (ЀЀЀЀЀ) 1 ЀЀ. 
7 ЀЀЀЀЀЀ ЀЀЀЀЀ Ø30 ЀЀ 15 ЀЀ. 
8 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 12 ЀЀ. 
9 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 1 ЀЀ. 

10 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ/ЀЀЀЀ 2 ЀЀ. 
11 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 6 ЀЀ. 
12 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ 4 ЀЀ. 
13 ЀЀЀЀЀ Ѐ4 4 ЀЀ. 
14 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ-74 4 ЀЀ. 
15 ЀЀЀЀЀЀЀ ЀЀ-2 2 ЀЀ. 
16 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 3 ЀЀ. 
17 ЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ; ЀЀЀЀ; ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 
ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ-
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ! ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀ 

2 ЀЀ. 

18 ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ) 10 ЀЀ. 
19 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ  2 ЀЀ. 
20 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ 2ЀЀЀЀЀЀЀ 6 ЀЀ. 
21 ЀЀЀЀЀЀЀ (ЀЀЀЀЀ 20-30 ЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ 1ЀЀ) 6 ЀЀ. 
22 ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 

10 ЀЀ. 
23 ЀЀЀЀЀЀЀЀ 4-6Ѐ 15 ЀЀ. 
24 ЀЀЀЀЀЀЀЀЀЀ 6 ЀЀ. 
25 ЀЀЀЀЀЀЀ  3 ЀЀ. 
26 ЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ) – ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 1 ЀЀ. 
27 ЀЀЀЀЀ ЀЀЀЀ 1 ЀЀ. 
28 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ  10 ЀЀ. 
29 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 3 
30 ЀЀЀЀЀЀ 200ЀЀ. 2 ЀЀ. 
31 ЀЀЀЀЀЀ 2 ЀЀ. 
32 ЀЀЀЀЀ Ѐ ЀЀЀЀЀ 2 ЀЀ. 
33 ЀЀЀЀЀЀЀ ЀЀЀЀЀ 2Ѐ2Ѐ 2 ЀЀ. 
34 ЀЀЀ ЀЀЀ ЀЀЀЀ 1 ЀЀ. 
35 ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀ) 1 ЀЀ. 
36 ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ- 10 ЀЀ. 



 40

Ă ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀ-ЀЀ, ЀЀ. 
ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 600*1200 ЀЀ) 
37 ЀЀЀЀЀ 6/8/12 Ѐ 1 ЀЀ. 
38 ЀЀЀЀЀЀ 2 ЀЀ. 
39 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀ: 60, 80) 
1 ЀЀ. 

40 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 15Ѐ15 ЀЀ 3 ЀЀ. 
41 ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 2 ЀЀ. 
43 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 20 
44 ЀЀЀЀЀЀ 10 
45 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 20 
46 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-ЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ) 200 Ѐ 
47 ЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀ ЀЀЀЀЀЀЀ) 5 ЀЀ. 
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